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CLASSE 17 A LICEO SCIENTIFICO 19 Gennaio 2022 Scomposizioni

. a’x — b?x + a?y? — b%y? — 2a® + 2b?

=x(a®> - b?) +y*(a®* - b*) —2(a* = b*) = (a* - b*)(x +y*—2) = (a—b)(a+ b)(x + y* — 2)

. 5a(a—2)—a*+4

=5a(a—2)—(@*—-4)=5a(a—-2)—(a-2)a+2)=(@—-2)[5a-(a+2)]=(@—-2)4a-2)=2(a—2)2a—-1)
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. —a®b3 + 25 a?"*op

= a®b (—b? + 25 a*™) = a®b (—b + 5a™)(b + 5a™)

. x—9—a*x+9a*

=x—-9-a*(x-9)=x-9NA-aH=x-9A+aH)A1-a>)=x-9A+a*>)(1+a)(1-a)

. (a+b)2(2b—3) — 2 (a + b)(2b — 3)?

=(a+b)2b—-3)[a+b—2@2b—3)] = (a+b)2b—3)(a+b—4b+6)=(a+b)(2b—3)(a—23b+6)

@ -0)@+ )+ (x—4)2*+ Bx—12)(x + 3)
=—(x-DU+0)+x—-4>2+3x-DHDE+3D=x-D[-@G+x)+x—4+3x+3)] =

=x—-4)(-4—-x+x—-4+3x+9)=x-4)3Bx+1)

.3(@a+b)+x(a—b)—3(a—b)—x(a+Db)

=3[(a+b)—(a—b)]—x[(a+b)—(a—b)]=3(@+b—a+b)—x(a+b—a+b)=6b—2bx=2b(3—x)
oppure: (B—-x)—(a—-b)B—-x)=@B-x)la+b—-—(a—b)]=B—-x)(a+b—a+b)=2b(3 —x)

. 2a®+4+4a*—-3a—-6

=2a*(a+2)-3(a+2)=(a+2)(2a%-3)

10.x3 —x?—x+1

=x2(x-1D-1x-1D=x-DE*-D=x-Dx-Dx+1)=Kx—-1D*x+1)



